No.1
bSvD - TJ4—)L FHEE - R - B8RER BLLET)

BEth T a—F [og] gy 2024 BEEEMEEEBEAS o [24082301] s IHEN

BRIl KBRS s RBRERPESIBI LR a— [ 083100 | (e FRHT

At fEA V,Z"; 0L | ik E A, P ok E A, G ok E A, G Fit E WA, F Rk

08/04| 5+ R TIINE % C3|sroerrnone]  10.98 |2 |BE& B BTP T1.10 |[3|=K REE Cldlrorcrone| 11.20 (4|2 B B|RBELIST| 11.43
oo HBEEES S AT ] 1_11_'438 6|[EAR—8 2|8 B8 1_11.'535 I B8 2|5 X& 1_11_'539 8% &z 2|9km 1?ﬁ (7)3

YRS TE NE B S 1 o B TRy e T e 7 (= R DYty R N T e Lok
300 SRR mE 1|LAEAB | 301 |6|EA B 2|&-B—8 | 31.06 |7[BF BR 2|5A& 37.27 |8[EE BE 2|mrAm 37.32

08/04| B+ R TE =B 2|=rB-& | 20245 | 2|18 MR 2|LA=% 7040 [3BR mE  TTE—3 2:05.10 [4|RE RA 1 |P5FEALS| 2.06 32
800 5RE oE  2|am—a 2:06.42 |[6|En BB 2|msB—& | 2065/ |/|®%E BA 2| B—& | 2.00.40 (8@ =@ 1|Le & 7:07. 61

08/04| 58+ R TR R 2|&rB—m | 42065 2|24 BA E351535] 4248 (3|EX RE 1|LAa & 42403 (4R =R 2= BB | 42609
o0 5B HMA 2|LE=m 42641 |[6|AH mE 2|msB—m | 429.20 |1|EF BER 2|FA& 4732.28 [8|RE —Kk 1|&~sB—& | 4.33.00

08/04[RZEERF | R 1.8 JEEELY S| 18 29

100mH[0. 838m/8. 50m]

o
]
2
b=

038/04[ B+ R | | 061 BE 2 IrNEs | 1602 2|8k 28 2| B kba 16.33 | 3| AR RE 1|LABA= 16.58 | 4|&0 HHR 2| mirihke 17.60
110mH[1. 067m/9. 14m]

S[EAE Z 1 |Lamits 7.61 [[6[RAIFER 2|=2hFha 20. 66
08/04| BF R TIEE %E 2| IFBRES | 38.66 |2|F8& BA 3 |Br=EHws| 39.73 |3 | %2R EA ?|Bzsmbus| 4200 |4|EE L 2B B-5 7338
300mH[0. 914m ||
5 EmaAE 2 |th-& B34 68 KB 1|lzrB-5 1369 [[7[ME BTE 1|lad—a 52. 71
08/04 i% REE T[CE ®E 2)1PlkFs me0 |2 |;mA =E 2 |am—m mi5  |[|2[RAT BZE 1 |BFiBe s | 4|88 HA 1|rE—8 Tm60
=k ||
S EHEABE 2|ftA== 60 || 6 [fa/ MR 1|Th=m ms0 || 7|&%E =R 1 |mEEABAC s | 8[BF BA 1|te—m Tn40
03/04[ B+ R T|AE BE 3 |FA=s 20 |1 | AKX 2 [EAmEATREE| M0 | 3| EE iE 1| Temits mmd0 [[4[K7 F@m 1 |Lte=m 3m20
BE
A EEIEES FEIRS—XER 2m80
08/04[FZERF | RIB TIINE B B|EBELSSJ| om0 || 2|5K BB JI| rE—a&mE | ame6
=Bk +1.4 +1.6
08/04| SR EBTF | R TIO B8 2|5 A= 682 (+2. 1) || 2[R 1BRE 3 |F A= 6mb1 | 3|lBH xE 2|th—m tmi8 | 4|-E BE 2| IF)IRFa | 6m30
ENEBE 23679 (+1.9) +1.7 +1.1 +1.8
5ILA =E 2|L@@dts |6m5+4.3) | 6|EEE & 2 |6E—8 tmi3 | 7|/hE BE 1| LEmILs |6m9¢+3.4) |8 | EHABE 2|LTE=% 5m94
4A5m96 (+1. 9) +0.7 436m01 (+0. 9) +1.9
08/04[SHREEF | R 11028 12k | |BEFEATS|12m53(+2.6)| 2 |BTE B 1| FEE—m 12m22+2.2) 3|2 BEX 1|TFTE—5 1m/8  [[4;ZOE2KER  1T[IIRNERFS 11m35
ZEREK 2312m16(+1. 6) A12m13(+1.5) +0.9 +0.5
S[ER ARG 2 |HF—_—a Tmi7 |[6]&L BX 2|FX& T0m55
+1.5 +1.4
08/04— & 5B R EEEES EiferAC Tm26 |2 |@ 2= EiferAC Tami4
=B Rk BE +1.5 BE +1.5
08/04[RZEETF | RIG T|®IL &L J2|EiferAC TOm66

=248 BE +2.0




No.2
bSvD - TJ4—)L FHEE - R - B8RER BLLET)

BEth T a—F [og] gy 2024 BEEEMEEEBEAS o 24082301 #IE TIRHIEN
A A FygE LIRS B4 MBRERERETBI74—ILF a— K 083100 FoER AT FIRkthF
H A A V,Z"/]; A | E B4 B kT E B4 B Flz E B4 B E E B4 G Fika:
08/0[ERERT | R MEGEER NIRRT TImi9 [ 2|BA KFEE  2|FRm 0m29 || 3[BeRnFE 2=rB—& om0 |4 |EE A 1 |BnEEOTE|  emo2
3% 6. 000kg]
ShE mZE 1 |Lamilts 8m4
08/04 qf_i%% R TIEE BA  J2| FE—aMm | om0l (2|22 =Xk J|Ltrm—omm | em2
Fa 4133 [5. 000k _ _
08,04 mg‘fé%% ARG NEGE R A 302 || 2 EeR Bfm 2| IR NECES | 20m02 || 3 |AE IR  J3|PiRa @ 25m02
P82 $% [1. 500k _ _
08,04 PW;?E%% 5]*;1;; T[FE Rl 2|F K& 367 | 2|/NE ImZE 1 |LAmite 24 | 3|BA KiE 2 |FRE 25m21 |4 |3 A# 2| LE—m 23m48
P88 [1. 750ke
Sl BRE 2 |HF—& 20m4 |[6[BER BE&R 2|FA= om25 || 7|81 2 2 | BFhhes Tim68 | 8|& HE 2|=f= TIm58
08/ Vd[ B E BT | REF TIAKR B2 3| LROATE| 4mid |2|%A B 3| BREKS 3ms6 || 3|28 K& 1 |LE—m= e | 4|5l R 2| =rB—m 3716
1) % [800¢]
S/ & 2 |HF—& 3Bm97 || 6|3B JvEn 1 |LR=& 28m62 || 7|ER RAE 2 |BREKS 28md6 |8 | =~ sk 2| LE—= 26m71
08/04|— R B+ R TN BE EiferAC 56m87 | 2 |t =R TRFGAC Bmi0 |3 [/NE R BIBELS S| 38mid | 4|/\B &l JKEAC 37m68
Y $2[800g] _ BE
08/04| B F RB T|RF 3%5@ J2|EiferAc 48m23 |2 [fal WA  J3|EiferAC Tme?
SyAYysR0— BE BE . _ _ _
08/04| & F RB TIEE == T|fi—5 3.49 |2 |m B4 JO|CiferAC 13.58 |3|A%E ®r 2|TF o 13.62 (4|98 | 2|FA= 13.64
100m +1.0 BE -2.1 +1.0 =21
S5IAR & 2|FA& 13.66 |6|kE = 1|a@—m B.71 |T[ES Z& 1|te—a 13.77 |8[MEEB=Z JI|IFIImEF | 13.81
_ _ _ -2 1 _ =21 _ +1.0 _ _ =21
08/08| & F RB TIEM =5 1|LREAS 1222 |2|mBERZE 1 |LEaRAs 4573 | S|FE wmE 2|2rB—m 46.20 | 4|AH A®m 1| rE-= 76. 29
300m
AEEE AR =S 4694 |[6|FRZHEE 1| TE—m 1837 |7|EO0 =R @ B-aWm| 4948 || 8|xF BW 2|2 B—a 49.50
08/08| & F RB TR W= J|EBELs57]| 2.29.17 |2|5kF WM 2|8 B—5 | 2.31.20 |3 | EEhRs &2 fmRas 2.32.08 | 4|28 ®¥ 2a@—a 7:32. 30
800m
S|RE =% 2 |TE=a5 23398 6|/ k B Ji|e—1vsoa=7| 2.36.47 |T|—F ®x L2|FRIEF 2:36.88 || 8[:hE Wit Jl|e—1-ov-=7| 2.38.32
08/08| & F RB TRE =5 J2|Le-—ameE | 5.16.79 2|FH o5 1 |EAEES | 5.18.9 |3|BE BE ?2|ERS 5:20.03 | 4|/ &= ® 2[IFIFm | 5.25.66
1500m
22 By ka5 5:27.47 |6|BE ®® 2|fe—& 5:29.32 7| EBEE 1 |EAS 5:51.70 || 8|5E #iF® 1|=rB—m | 5.54. 14
08/04| FEEXT | RE T 8|T|KE =M B Ta—amm | 17122 (2|58 == I FE—amm | 18.15 |3|/NEEER JI[IrmEm | 18.80 |4|K0 =5 J2| rE—amE | 19,901
100mH[0. 762m/8. 00m]
5/NEy =E  JI|FE—=MT | 23.62
08/08| & F R 2 1|1|E%E BE ?|fth-m 473 |2[EBmaZx 1|LeEk= 76. 83
100mYH[0. 762m/8. 50m]
08/04| & F R 201" Z£H 1|r&E—8& 6.74 |2 [ZmAmE 2 |BRE T7.53 (3|28 == T|XA & 17.56 |4 |%&X HB 2| IFIIEs | 1781
100mH[0. 838m/8. 50m] ||
S[RlF EE 1 |IFmEas | 18.02 |6|RAGAY 1|TE—a 18.02 |7|EANENn 2| BERba 18.33 |8[BEZRER 1|ERS 20.75
08/08| & F R TIRELRESE  2|W.C H. 4747 |[2|FF ZEBH 1|rE—-= ITTT (3Bl 2 2 |FAm 7902 |[4|E@ =W 2 |TE-m 79. 84
300mH[0. 762m || FE
SBA mMZE 2 |WERES 51.22 |6|FE @ 2|z -B—a 5428




No.3

fSwv o - J4—)LFTEE - iRE - Sofxk BRI FET)
BEl a—F  [og] gitas 2024 EEEEMEEEBEAS a—F 24082301] #HE IBEN
A A R LSRRGS B4 MBRERERETBI74—ILF a— R 083100 FoER AT FIRkthF
Bt A V,Z"/N\ | e E BEpiE 4, i kT E BibE 4, i Flz E BibiE 4, T, Fika: E b4 il Fika:
08/04| &F R 1 B= 2| LPNWES | m0 [ 2|e’ —= 1|fte—8 a0 || 3 =i & 2|F K& 36 || 4|ERK 2BE L2 LE—=me | 1mb
EEB _ _ _ _
N R BEIES: 7 |[BARBXREEE|  2me0 xFE B |aE—a SCERE L
EE
08/04[SRERT | R TREA BE 2|ad—= bmil | 2|RE =% 2|s b= 5mo9 |3 |aA BE 1 |LE—& MI5G3 D |4 IEX HE 2| LRIRES | 4md] (2. 7)
FEE Bk +2.0 +1.0 434m70 (+1. 4) 434m38 (+1. 2)
S|®A ME 2|aAa—ma 9 6|82 ER& 2|tE=m m6g ||/ |[EE EE 2|tA=& 77
_ _ _ _ 2.5 AHL _ _ +1.5 0.0
08/04(hz2E&F | RE 1B #Zx= JI[{IF)IERES 4m28 2[hF xR J|TE—=HG 3m99
ElE Bk _ +1.5 +1.8
08/04| NEEETF | R TIAE kM| KEE/N 3m64
iﬂﬁLﬂ% _ _ +1.4 _
08/04| & R TIF]/ t5 |hF—m Bmo6 (+2.2) | 2 |28 W 2|F A= Tme7
_Eﬁz‘ﬂs _ _ _ _ | /3m69 (+1.4) _ +1.9 _ _ _ _
08/04| &+ R TIER =& 1| IrREs| om/s |2|FR & 2|th=5 97 | 3|EW BhE 2| [IFImERm | /4 | 4|=@E M 1 |Th-m Bmo4
R 1% [4. 000kg] _ _ _ _
08/04| & F [R5 TG #heL 2| IFRES | 24m8 2|k RF 1 |5AS 2187 (|3 |BA BE 2|an—m 20m79 | 4|BmH =0 1|FXs Tomi2
[ 822 [1. 000k _
08/04[RZELRT | R T[B2 =% JLaLAR 20m04 || 2|<Eh E=W  J2| mEAEAC 21m63
F382 3% [1._000kg] _ _ _ _
08/08| & F RB T[BE & 3|EiferAC BmI9 ([ 2|EN BB 2 |HF_-m 3Im66 || 3 |Am ¥t 2|LE—m 265 |4 |FR B 2| LE=m 2Tm22
4 U % [600g] BE
SINE EE 2|KFr@E=E 22mgh |[6[BmM oA 1 |FAS T4 7|&F REZ 1 |ad—a TOma42
08/04|— e &+ R TI/NB &  co|mworinnrons|  32m50
Y $2600g]
08/04 /J\q-izt% R 1|ARH x’ | AFREND 28m64
DYy o R
08/04| B+ P B0 BA 3|FA= .15 2| B&E B BTP T.20 (3[AE BE 3|FAm .24 (4T B= R T1.30
100m (2 %) || -2.0 -2.0 -0.4 -2.0
5% #ZBEl 1 |BEFEBLs| 11.30 |6|/NR BE | |BaFEBZs| 1141 ||[7|8 HE 1 |L#EBXRS .51 (8[h&x & 3|tABAs 11.53
-2.0 -0.4 -2.0 -2.0
08/04| & R TIEN =5 1|LAEAS 13.26 (2[R 2 1|LAEAS 3.5 |3 REZRE 1| LTEEAS 3.63 (4| ZmAnE 2|BRE 13.89
100m (2 %) 3.1 3.1 -1.9 -1.9
SNEEBZER JI|IrmEs | 14.06 |6|s@ ¥ 1 |LREAS 443 |[T|BERESR 1 |BR=S 14.79 |[8|/\B s J2|rE—ame| 1486
-3.1 -3.1 -2.9 -1.9




